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Solution:
Here, 1,,, =6 A; Inag =0-j6 =6 £-90°
kVA x 1000 _ 500 x 1000
Secondary current, I .=1_= = =720 A
ph2 L2 NGVLQ _‘6 % 400
Vo
Transformation ratio, K= P2 400/ ‘E -4
Vaa  3300/43 33
Primary phase current, I;M = KIPM = % % 720 = 87 - 5A at 0.8 pf, lagging

I = 1" Z—cos0-8=87-52-36-87°
= (70~ j52.5) A
Tertiary winding current (phase value) = I, = W =606 A at 0.6 pf leading
110 _ 1

Transformation ratio for tertiary, K = =
T3300/43 1043

Primary phase current due to tertiary, I = Ky x I, = ﬁ * 606 =35A at 0.6 pf leading

'y =1, cos™' 0.6 =35 /53.13° = (21 +j28) A

Total primary current, I = Liag + i’phl +1',

= 0—j6 + 70— j52.5 + 21 + j28 = 91 — j30.5

= JOD +(30- 52 - tan™ 303 96 £ - 16 - 53°

=96 A at pf 0.948 lagging (Ans.)



